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| eq78 - attempt intially to prove SSSeq74a directly to SSSeq78 - almost
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> read "EFE" : read "SFE" :read "fids" :read "Seneqs80" :
> eq[74 b] := omegala, b]-omega[c]-omega[ -¢,-B]=0:T(%);

oo, ,=0 (1.1)
[ > convert(eq[68], string);
"1/2*P[-a,-b]*omega[c]*omega[-b,-C]-1/2*P[-a,-b]*omega[c]*omega[-c,-B] = 0" (1.2)
> eq[68] :=1/2*Pla, b]*omega[c]* omega[ -b,-C]-1/2* P[a, b]* omega[c]* omega[ -c,
-B]1=0:T(%);
1 b 1 b
EP“ wcwb’_c—zP“ o ‘w,,=0 1.3)

>

;Now combining SSSeqs68 and 74b
> templ = subs(d =a, TEDS(omega[ b, d] =-omegald, b], subs(d =-d, TEDS(omega[ -a,-d]
‘Pla, b]=omega[b,-d], expand(omega[ -a,-d]-eq[68]))))) : T(%);
1 a b 1 a b

—E(occob;c(o +o o o ‘o, ,=0 (1.4)
> temp?2 = -2 TEDS(eq[74 b1, templ) : T(%):
o ‘o, o*"=0 (1.5)
=>
:Now we contract with omega[-a,d]:
> temp3 := omegal -a, d|-temp2 : T(%);
0,0 ‘@, o*"=0 (1.6)
:Now using SSSeq14:
> temp4 = subs(a=-d, c=-a, TEDS(omega[ -a, c]=-omega[c,-al,eq[14])) : T(%);
—co”bwa L N P a.7)

B tempS = expand( TEDS(temp4, temp3)) : T(%);

b d
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;and also SSSeqs68 again:

> temp6 := TEDS(P[a, b]-omega[ ~a]=omega[b], 2- expand(omega[ -a]-eq[68])) : T(%);

c b c b_
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> temp7 = Absorbg(TEDS(P[d,b]l=g[d,b] +uld]-u(b], temp5)) : T(%);
0, "not a tensor"
o o ‘o, u’u Lt oo ‘-0’0 ‘0lo, =0 (1.10)

We look at the term @ , ,cub

[ > temp8 = TEDS(du[b]-omega[ -b]=Psi-omega-omega, expand( TEDS(omega[ -b]-omega[ b,
-c]=0, expand(TEDS(subs(sigma=0,b=c, B=C,a=-b, eq[6]), omega[ -b,-C]-u[b]
=omegal -b]-u[b,-C]))))) : T(%);

1

0, ' =u Yo + 0P o, (1.11)

;which is substituted back into temp7:
> temp9 = expand( TEDS( omegalc]-omegal -c] = 0)2, expand(TEDS(omega[c]-u[ -c]=0,
TEDS(P[b,-c]-omega -b]=omega[ -c], TEDS(temp8, temp7)))) ) ) T (%);

2 4
oo‘o’ —0’o ‘o doob,.c+%oaude=0 (1.12)

:we are almost at SSSeq78 with this expression (temp9).

N e
> = 2 “
eq74] Psi omegala ]-omegal -4 ] ( 3 )
ro’e, 2 113
¥ ( ) (113)
;Now
> templ0 == omega[b]-omegal -b,-C]= ; -omegal -C]: T(%)
® ”mb;c=% ® (1.14)
B templl = TEDS(templ0, temp9) : T(%);
mzoacmd —%m mdoa +%mu 0=0 1.15)
> templ2 = Subs( =c,A=C, [7;”1351) T (%)
b Y (p’— %) (1)4
0 ‘o = , (1.16)
’ p

> templ3 = collect(isolate[expand [ TEDS(temp!2, templ1)

],omega[c]-omega[d,—C] ,
o, m[d]]) . T(%):;

7
mcm".=((i\1’—i—)md—iude)oﬁ (1.17)
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[proof completed



